






 



TYP. COL. TO RAFTER CONN.

TYP. COL. TO RAFTER CONN.

TYP. COL. TO RAFTER CONN. TYP. STRUT & BRACE CONN.

+0

1

+0

+4500

+5880

C
LE

AR

C
LE

AR

90
0 

EN
D

 S
PA

N
 1

 R
O

W
 B

R
G

1 ROW BRG

PR
O

J.
EM

BE
D

.

G
R

O
U

T
BA

SE
PL

AT
E

25MPa STRENGTH
50mm COVER INTO
TIES @ 300 CTRS
6N20 BARS W/ R10

NATURAL MATERIAL
100kPa MINIMUM FIRM
FOUNDATION SHALL BE

30
00

600 DIA.

C1 ISSUED FOR CONSTRUCTION12.04.2023
C2 ADDED FOOTING DETAILS31.05.2023

20000

U
B

36
0*

45

U
B

36
0*

45

UB310*40 UB310*40

DETAIL B

5000
38

95
5000

DETAIL D

DETAIL A
DETAIL C

TO SIDE WALLS TYPICAL
900 END SPAN 1 ROW BRG
Z20024 GIRTS @ 1200 MAX CTRS

50005000

10
°

58
80

UB36
0*

45

U
B

31
0*

40

UB36
0*

45

50
00

50
00

UB36
0*

45

CA50*50*2.5
FLYBRACE TYP.

UB36
0*

45

50
00

U
B

31
0*

40

U
B

31
0*

40

8000

U
B

31
0*

40

WALL BRACING
ROD24

U
B

31
0*

40

ROD20

UB36
0*

45

Z2
00

24
 P

U
R

LI
N

S 
@

 1
25

0 
M

AX
 C

TR
S

U
B

31
0*

40

ROD20

ROD20

ROD20

ROD20ROD20

ROD20ROD20

U
B

31
0*

40
U

B
31

0*
40

U
B

31
0*

40

SHS125*125*5.0

U
B

31
0*

40

U
B

31
0*

40

U
B

31
0*

40

SHS125*125*5.0

SHS125*125*5.0

UB36
0*

45

UB36
0*

45

UB36
0*

45

UB36
0*

45

UB36
0*

45

UB36
0*

45

UB36
0*

45WALL BRACING
ROD24

50
00

8000800080008000

20
00

0

40000
Z20024 PURLINS @ 1250 MAX CTRS

14
0

86
0

40
20

8-M20 8.8S BOLTS
20mm END PLATE
10mm STIFFENERS &
DOUBLER PLATES

3000

SHS50*50*2.5
8mm FASCIA PLATE

UB310*40

8-M20 8.8S BOLTS
20mm END PLATES

2-M20 8.8S BOLTS
10mm CONN. PLATES

1-M20 8.8S BOLTS
10mm CONN. PLATES


